a(d cot(d))

(0 @) (rad)
5

b

IIRAN £ TR
1

2 3 2 3
9 (PcA tbeamiindf P (Pca theamiindf

DQNM_MKFIT5_QCDHIgGhPT_base
DQM_mKkFit5_ QCDnghPt retraanIdFlIeleS v2_prelimWPM_epoch4
DQM_mkFit6_QCDHighPt_base
— DOM_mkFit6_OCDHighPt retrainOldFiles125 v2 prelimWPM_epoch4

1

11

o> = F
= 1] F
5 [3) o
2 2 o
-~ = L
< o> r
> o
2 =
3 : S
5 107!
*|-
i

910;_2: bl |! 1 “n::! T o - !
p A 1 1 0 3 5 | :
o E T ¥ 5 x LE B U 1 O s
L5 - -2 ll 1 :
i - L
S -1 ; 2 -—1 2 3
10 ! TPlpg) (PCA tjbobeamllné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)
1=

o p/p.)

N
T TTTT[ITTI[TTTT

[y
o
I8
[N
=
o



	Contents
	Page 1


